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Mathematics

Predicted Paper 1

(Non Calculator)
Foundation Tier

Time: 1 hour 30 minutes

You must have: Ruler graduated in centimetres and millimetres, protractor, pair of
compasses, pen, HB pencil, eraser

Instructions

» Use black ink or ball-point pen.

» Fill in the boxes at the top of this page with your name,

centre number and candidate number.

« Answer all questions.

« Answer the questions in the spaces provided

— there may be more space than you need.

« Calculators may not be used.

« Diagrams are NOT accurately drawn, unless otherwise indicated.
» You must show all your working out.

Information

» The total mark for this paper is 80

* The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.

Advice

* Read each question carefully before you start to answer it.
¢ Keep an eye on the time.

» Try to answer every question.

» Check your answers if you have time at the end.
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Please be aware that it is not possible to predict what will come up on the first paper with any degree of accuracy. This is an additional
practice paper drawing on the topics that have come up in the sample, specimen and mock papers.




Answer ALL questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator.

1 (a) Write these numbers in order of size.
Start with the smallest number.

52 102 25 120 55

25,52,55,102,120

(h

(b) Write these numbers in order of size.
Start with the smallest number.

6 =2 0 =5 3

(c) Write these numbers in order of size.
Start with the smallest number.

0.63¢0 0.633 0.603 0.600 0.060

¢ -06,6.6,0.663,0.63, 0.632

(1)

(Total for Question 1 is 3 marks)




(a) Write down the coordinates of the point 4.

(b) Write down the coordinates of the point B.

(1)
(c¢) On the grid, mark with a cross (x) the point (-3, —1).
Label this point C.
(1)
(d) On the grid, draw the line x = 3
()

(Total for Question 2 is 4 marks)
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3 (a) Simplify m+m+m
(b) Simplify 9e — 2e
(c) Simplify 5x3g

(Total for Question 3 is 3 marks)

4 (a) L=3a+2c

OO00da=5
c=28

Work out the value of L.

(b) Kirsty buys some buns.

3(5)+QC‘8)
\ S F | &

She buys x packs of currant buns and y boxes of iced buns.

There are 6 currant buns in a pack of currant buns.
There are 8 iced buns in a box of iced buns.

Write down an expression, in terms of x and y, for the total

number of buns Kirsty buys.

(Total for Question 4 is 4 marks)
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5 The table shows information about the average daily hours of sunshine in Majorca and in
Crete for each of five months.

April May June July August
Majorca 9 9 11 11 10
Crete 6 8 11 13 12

Simon wants to compare this information.

On the grid, draw a suitable diagram or chart.

._A/]ﬂ;_of(.(/ﬁ
Cre7&
S
12—
§ 1! o g
X 16 7 4
< 7 vi
59 2 .
L S Y/ /4 f/
$ 7 7 /
N Z 7
s L2 7 7
N 7 7 7
2z ? /" %
: 7| | 1 '

ArriL  MAY  Jure Jues /.)ue}uw

(Total for Question 5 is 4 marks)




On the grid, draw an enlargement of the shaded shape with scale factor 3

(Total for Question 6 is 2 marks)




You can use this graph to change between miles and kilometres.
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The distance from Paris to London is 280 miles.
The distance from Paris to Amsterdam is 500 kilometres.

Is Paris further from London or further from Amsterdam?
You must show how you get your answer.

jookm = 6R miles
AS &=
Spokn = 310 Ml

. o
Paris o fAmstedar’ 07 p" ther

(Total for Question 7 is 3 marks)




Ria is going to buy a caravan.
The total cost of the caravan is £7000 plus VAT at 20%.

Ria pays a deposit of £3000
She pays the rest of the total cost in 6 equal monthly payments.

Work out the amount of each monthly payment.

7000_}‘0 - 706 0O
7 oo = 1o~-.
| ¢ 6 © = 20 7y
JToeoo ¥ L4“OO0 = % G2
2¢oo -— BoSS T = R

S Goo Q00

¢ 100

(Total for Question 8 is 4 marks)
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9 Steve wants to put a hedge along one side of his garden.

He needs to buy 27 plants for the hedge.
Each plant costs £5.54

Steve has £150 to spend on plants for the hedge.

Does Steve have enough money to buy all the plants he needs?
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(Total for Question 9 is 4 marks)




10 The diagram shows a cuboid.

Diagram NOT
accurately drawn

7 cm

S5cm

20 cm

Work out the volume of the cuboid.

20 x § X 1 = 700 C

(Total for Question 10 is 3 marks)

11 The map shows two airports, A and B.

Scale: 1 cm to 100 km // 5 s [ / oj
’ X /O

A plane flies directly from A to B.

The average speed of the plane is 300 km/h. // 5 O K

How long does the plane take to fly from A to B?
You must show all your working.

e = Pstene o 1ISF 22 - 32
? [ 1€ j‘/e?‘/ 30;5 6
S 7 —~ =

.............. > & hours

(Total for Question 11 is 3 marks)
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12 Suha has a full 600 m/ bottle of wallpaper remover.
She is going to mix some of the wallpaper remover with water.

Here is the information on the label of the bottle.

Wallpaper remover
600 m!/

1
Mix 2 of the wallpaper remover

with 4500 m/ of water

Suha is going to use 750 m/ of water.

How many millilitres of wallpaper remover should Suha use?
You must show your working.

,_L o faw T t SO f“/(
Wa“fo-f’”' it
[ Sompd = C{—S:OOM/(’
ggmi = 7sonk
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i 7S¢

LS

(Total for Question 12 is 4 marks)

m!




13 The table gives information about the results of the matches a football team played.

Result Frequency ?{’q ree s
Won 28«4 ) &
Drawn 12 <G -7 o
Lost 20 «¢ 120
o
Draw an accurate pie chart to show this information.

360

—

(Total for Question 13 is 4 marks)
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14 (a) Simplify 6g—S5h—4g+ 2h

(b) Factorise y>—2y

3 4
(¢) Simplify fully £ X2
P

@)

-/ 5

(Total for Question 14 is 5 marks)




15 John buys some boxes of pencils and some packets of pens for people to use at a conference.

There are 40 pencils in a box.
There are 15 pens in a packet.

John gives one pencil and one pen to each person at the conference.
He has no pencils left.
He has no pens left.

How many boxes of pencils and how many packets of pens did John buy?

LCM o} Yo and 1S

QO 5 O 12 O

/'S 30 ¢S o 7S. To O /20

3,, boxes of pencils

% packets of pens

(Total for Question 15 is 3 marks)
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16 Rachel bought a packet of 60 balloons.

1—10— of the balloons were yellow.

% of the balloons were red.
The rest of the balloons were blue.

How many of the balloons were blue?

Lo af 88 F
[ O
/.3_- D" 6o -
&

LO -6 - 36
60 ~ 42

/ g balloons

(Total for Question 16 is 3 marks)
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17 Karl wants to raise money for charity.

He designs a game for people to play.

Karl uses a fair 10-sided dice for the game.
The dice is numbered from 1 to 10

Each person will roll the dice once.
A person wins the game if the dice lands on a multiple of 4 (/— -
o

Ali plays the game once.
(a) Work out the probability that Ali will win the game.

oL

Jpc
/O

Each person pays 30p to play the game once.
The prize for a win is £1

Karl thinks that the game will be played 100 times.

(b) Work out an estimate for how much money Karl will raise for charity.

§

20p x (0O = 229°F 7

2— - 20 ey # 1
/ O j ©O

QO}/:fQO

20 — 20 =

L O

£10O

(3)

(Total for Question 17 is 5 marks)




18 (a) Work out

1,2
7 3

2
21
(1)
301
(b) Work out g—g
x 3 _ ALx5
%/\ = Z <5
Q9 _ 5 _
1% 1.5 =Y
I 2
)
¥3

(Total for Question 18 is 3 marks)
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Competition

a prize every 2014 seconds

_ o 0 ©
In a competition, a prize is won every 2014 seconds.

Work out or the number of prizes won i@

You must showyour working.

20
B
A0 X660 x 6O \\\::uﬂr; i(obsecj
QLOO O
LG 22
v
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(Total for Question 19 is 4 marks)
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4 B Diagram NOT

~

60° c accurately drawn

P

ABC, DEF and PQORS are parallel lines.
BEQ is a straight line.

Angle ABE = 60°
Angle QFER = 80°

Work out the size of the angle marked x.
Give reasons for each stage of your working.

BEF < §0°  (arterralt engtes e spuak]

Fgg = /3;0’60’?0‘:‘40 (A'Y'\?/,ejor\

e - 400 (‘Pg)[{-efna/a a—f\jﬁed o€ €7uq./e>

(Total for Question 20 is 4 marks)
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21 Here is a rectangle.

Diagram NOT

Yem accurately drawn

8cm

The 8-sided shape below is made from 4 of these rectangles and 4 congruent right-angled
triangles.
& T -

% Diagram NOT
accurately drawn

Work out the perimeter of the 8-sided shape.
You must show all your working.

6z f‘c?z :)CQ
3¢ - 6¢ = X
/OO = _)61
x = /o
Perimeter = & [10) + ‘t(2)

= 4 E cem

&8

(Total for Question 21 is 5 marks)

cm




22 The distance from Fulbeck to Ganby is 10 miles.
The distance from Ganby to Horton is 18 miles.

G Omph

i 10 miles 18 miles |

| I
Fulbeck Ganby Horton

/ooo

Raksha is going to drive from Fulbeck to Ganby.
Then she will drive from Ganby to Horton.

Raksha leaves Fulbeck at 10 00
She drives from Fulbeck to Ganby at an average speed of 40 mph.

Raksha wants to get to Horton at 10 35

Work out the average speed Raksha must drive at from Ganby to Horton.

R — Distent
To C(anbjj : [rrg = pjy———-?zj

= /2 < L (of en s )
—— T %
(/)

- U5 mins

jo: 16 — l0:35 = 20 minS (L )., )
Jo Hoctonr he
[l 5 Fen 2
TimL
= ___/___i?___ - 1§x3 = 5¢

i

5’/{960'( o

5 9L mph
/
(Total for Question 22 is 3 marks)




